ECN 4890
Study Guide for Final Exam

Make sure that you look at homework as well.
Chapter 8
Explain the signaling hypothesis, including the important hypotheses.  In what ways is it similar to human capital theory (in terms of outcomes)?  In what ways is it different?

Why would the marginal cost of schooling differ across two individuals?

Why is it important to know if the signaling hypothesis is correct?

What is the “winner’s curse”?

What factors should a firm consider when it comes to offer matching?  What are the benefits/costs of offer matching?

Chapter 9
In what ways are promotions like tennis matches?

How does potential compensation affect a worker’s effort level?

How do production uncertainty and measurement error (noise) affect the required wage spread required in tournament theory?  Explain why.
Suppose that promotions were determined by a pure lottery (drawn names from a hat).  What happens to effort?

Explain the difference between absolute performance and relative performance.  What are the advantages of using relative performance measures instead of absolute performance measures?  What are the disadvantages?
Chapter 10
When should a firm prefer hiring “doves” over “hawks”?  Explain.

Should “hawks” and “doves” work on the same teams or different teams?  Is it better to mix or match? How should performance be measured in each case?  Explain.

 How can firms use the wage spread to get workers to self-sort into “hawks” and “doves”?  Will this always work?  Why or why not?
Chapter 11
How does an upward-sloping wage profile affect worker effort?  Explain.  Are there any risks to the worker?  Explain.
Why does mandatory retirement make sense?

Chapter 14
Explain how monetary equivalents can be calculated for nonmonetary compensation (such as flextime).

Draw a diagram showing an individual’s tradeoff between wages and an employee benefit such as flextime.  Explain the shape of the indifference curve, including the slope and how it changes.  What does the slope measure?  Explain.
Suppose you are analyzing a tradeoff between wages and a job characteristic that the employee believes is undesirable.  Describe the indifference curves for this type of tradeoff.  Your description should include the shape and slope.
What is a “Hay Point”?  How can this be used?  What are the problems associated with the use of Hay Points?
Chapter 15
Explain why employees and firms prefer some of the workers’ compensation in the form of health insurance.

How can adverse selection be a problem for a firm that offers health insurance?

Describe the difference between a defined benefit pension plan and a defined contribution pension plan.  Your answer should include a description of how they work, what determines their size, vesting requirements, portability, and the risks involved (from the firm’s and the employee’s perspective).

Describe what vesting means.  Describe portability.
Should all workers be given the same amount of paid time off?  Explain.
What is a cafeteria plan?  What are the advantages and disadvantages of these plans?
